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cation on 52 Huge

R ≤ 52×52

NTtaÉÉR we write aRb

⇐ a < b
"
<
"

= { (ais) / a ,bE2 ,aÑ

D-EFAIRI.su
equivalence relation if
R is

reflexive
symmetric _ b£R)(a-Rb ⇒ bra)
transitive



PC

if7Ra-
a ,bER)(aRb) means R≠∅
-

Ris It symmetric it and only if (F.a,bER)(aRb Abra)
DEF R is antisymmetric if Ha , b) (a Rb ⇒ 7bRa)bRa#

negating -an implication

7# ⇒B) means Â 7B_



given 52 , does there exist a relation
that is both sync and antiaging

☐⇔Pa+ÉÉÉ∅r%??:¥;oʰ
IT = { B. . . . ,B, }

G) Bi ≤ R
←
disjoint

(2) Bi ≠∅

(3) if i≠j then Bin Bj =D
(4)iÉBc
Given IT define corresponding e .

rel . on S2

notation: ~
,T for a.BER we say any,-b if E) (a,bEBi)



taobao.talthmof-tqiev.Relo-tionscteg.nlRonD)G- ! partition IT) (12--7)

⇔Ei÷÷÷÷
-

-

-

-
-

blocks of this partition
are called the
equivalence ?⃝⑤close-SET

bijectioninstan£cÉpt !
the



⑤{ 3,1 , 3,3 , 13--8,3} 2

aÉn
'

¥ii☒£ ,-0¥remove o_0
73 4

⇒ equiv . rel
.

Poof Si"ʰ an egret R , find comesp . painting
to help intuition :
If R = MTI. aer [ a ] = { best a Rb}

2. needto show :
thea [a] is the

4- = { [a] / a c-I} partitions
block containing . a-

Za la] C- S2
2b [a] -1-0 :b K a c- [a] b/c R is

|fk"ÉÉ⇔
2- (ta

,
b) ([a]=[b] V [a)n [b)= ∅ )←

2d Uca] =D a?⃝R
aer



⇐
DIE a c- ÑC

, if (7) (aaa )
i=l

↑
set

181=6

DEF gcdca , b)
We say that d=gcd(a.b) if . _

(1)

dlaldlbcommondiu.sn/Dio(a)--
{e : Ha}

Diulaib) :=Diu↳no↳,

Dio /01--21
- . . _ . Dicko,0)=ZnZ=Z


